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el (822180 (harmonic distortion) 12 2| ? AGTagR W2 elHlHs (218l

el =L [6ig (three points) I Al sA AL Ay, A| dL A, 4 [RAR Hadl. 7

18] HFaGRIRAL Y2 131 B2l Sldl MERA ¢ o33 3yt dul WRual Hegedl

UHAMAL BAFRRAL FY2 AR HIMALL DA R gl

wadlole 8 © 2 Y Rildd g6l ddd wuawdl. Rildadl clealisdizll 2.

V.

1

R

[©)

\Y% R.
A2 yoror AlsRQLdB = 20 log (—"j +10 log (—‘j dRdL.

dlezHlzzAL 3ol Hlzr a1 Gyl (AL AlARdR A+l

|

CE AR asRAL [ 2ug[d (low frequency) Mt WR 2Hler ol

HURA2RAL 2AAR AHoWAL

AR dd (square wave) HI2 AL [ 2Ud[xL A4 (low frequency

response) il TN
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4. (A @olls r-sUR{lery, 0los AU AR A ZLrodlR2R Zlrs 521 [AN Moyl 24l 7

(B) AL : ARSI GUR U2 FURIHE (Approximate) CE G 2 vz, 7

5. (A (@) AR 20 offaud qHse ojellud [FuH 2 wHaAL Guldl 30 w53

{4, 7

Y =(A+B)(A+B)(A+B)

1

(i) Slwea weuel (digital system) HL “$l=2 33 2RA” (Don’t Care Condition)

AUl
(B) ¥llz¥ (mini terms) <% s2Ulde dloys AlsEL 7

y=2m(7,9,10, 11, 12, 13, 14, 15)

slfHUAL Buldal 53 U0 ofellRir AHISREL ARl 2UANBLS UM 25 W2 (sum of

product) dlows Uy €Il
(i)  OR i< AND dfz-l Gt 3.

(i) ¥ NAND diSeAl GuliaL 531

6.  (A) RS selluselid (flip flop) (R AHaydl 24l 7
(B) JK sell\ seliu (flip flop) (a8 v @il 7
7. (A) YR Ul (superposition) UHUAL 52 @il 24 dell Aoyl AL 7

(B) T o0idal (network) 24+ 7t o0ldt (network) HI2 ARAUIA (vice-versa) UHAEA

oLt 3UUARGIAL Rt 3R Ypll direll AR AL 7
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8. (A) Al 2 WRaAl Aoyl AL 2Als 2 fr Yot Hodl. Ao 5315 Bl
AlE UMY Fes52r 2 BUAeR R dleeor-Al HEUL AMIA UL Asidl [Re

(opposite sign) S . 7

(B) AUHUIAR 2Arlls MR (A uoydl 2A0dL £, (RArts 2u9lx) o AHlsR6L dirdl

~ L ~
UAR, = CR dlRdl. 7
Qe - 11
9. 25l BR AL : (S15UBL 2418) 8

(1) 5eURA-A AR EsRR 22d 9 ?

2) e AFagRAL 2UB2Y2 AR 326l Eldl MEA 2

SN Nt S . M ~
(3)  SULURUHL ULARIESA dB ¥ 20 log [VOJ U317

i

(4) sy, 2Ly, el s ?

(5) CE gzl 51358 (cascade) ALRLAL KAl A 2L

(6) suelldl FudleR (coupling capacitor) -ifslei QUL

(7)) AUHA [ 2ugc £, BRiddl n U SRES 2AFsRR 2 WReIAH! [ 2y
£, (n) M2, AHs0L AL

(8)  2lroblreR MBRAGIUR 2oL 51358 U2 2l-451HRAL Bl Al 51EL LUl

(9)  ArvALAML : 54L$ (Quad)

(10) ofcllud A5 Y = AB + AB- uRUllsR0L 31

-~

(11) Sl-3lH ¥ a{ls6lL el
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(12) Ol AU HIZ HOC IRUSIR 52EL S1 € 7 2101 UG A UR U HI2 52l S ?
(13) [@Al2= (linear) 2AellFr2-l vl 2L

(14) e (Norton’s) AL UH 52 L.

(15)  Adeflrirdl UHUA 5UA AL

(16) RRADR{ZL W, 56 L.
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Instructions : (1) All questions in Section — I carry equal marks.
(2) Attempt any three questions in Section — I.
(3) Question — 9 in Section — II is compulsory.
(4) Symbols have their usual meaning.

(5) Number to right side of questions indicates marks.
Section — I
1. (A) What is harmonic distortion ? Explain three points method of calculating

harmonic distortion. Obtain amplitude A, A, and A,. 7

(B) What would be the input resistance of an ideal amplifier ? Explain it with
necessary formula and circuit. Describe one method to measure the input

resistance of an amplifier. 7

2. (A) What is Decibel ? Explain zero decibel reference level. Give characteristics of

V0 Ri
decibel. Derive dB = 20 log V. 10 log R I 7
i o
(B) Explain how voltmeter can be used as a decibel indicator. 7

3. (A) Explain the effect of emitter bypass capacitor on low frequency response of CE

amplifier. 7

(B) Explain low frequency response of amplifier to a square wave. 7
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4.  (A) Explain about hybrid m-capacitance, base spreading resistance and transistor

transconductance.

(B) Explain : Approximate CE high frequency model with a resistive load.

5. (A) (1) Simplify the Boolean equation using Boolean laws and theorem.

Y =(A+B)(A+B)(A+B)
(i1)) Explain “Don’t Care Condition” in digital system.

(B) Derived simplified Boolean equation using Karnaugh map for the logic equation

expressed in mini terms y =X m(7, 9, 10, 11, 12, 13, 14, 15)
Draw the corresponding sum of product logic circuit
(1)  Using basic logic gates (OR and AND)

(i1)) Using only NAND gates

6. (A) Explain in detail RS flip flop.

(B) Write a note on JK flip flop.

7.  (A) State and prove superposition theorem.

(B) Explain the method to convert a T network into equivalent m network and

vice-versa.

8.  (A) Explain series resonance circuit-obtain expression for resonant frequency fr.
Prove that voltage across inductor and capacitor are equal in magnitude but

opposite in sign at the time series resonance.

(B) Describe parallel resonance circuit in detail. Derive equation f, = (resonance

L
frequency) and obtain R . = CR'
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Section — II

9.  Answer in short : (any eight)

(1
)

3)

4

)

(6)
(7

®)
€))

(10)
(D
(12)

(13)
(14)
(15)
(16)

JJ-109

What is class-A amplifier ?

What should be value of output resistance of an ideal amplifier ?

4]

Under what condition the power gain in dB is equal to 20 log (7) ?

1

What is meant by notation I1 and I-1 ?
2 2

Name the methods to cascade CE amplifier.
Give the function of coupling capacitor.

Write an equation of overall value of low frequency f(n) for identical cascade

stage each having same value of low frequency f.

What is the advantage of using transformer to cascade transistor amplifier stages ?

Define Quad.

Simplify Boolean equation Y = AB + AB.
Write equations of De-Morgan’s theorem.

How many fundamental products are there for two variables ? How many for

three and four variables ?

Define linear element.

State the Norton’s theorem.

Write statement of Thevenin’s theorem.

State the Reciprocity theorem.
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